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GENERAL STUDIES

[y

. A is 5 years younger than B. B is 3 times as old
as C. If C was 10 years old 4 years back, the age
of A after 6 years will be

(a) 35 (b) 38
(c) 43 d) 45

2. What will be the last number in this series ?
85, 77, 70, 64, 59, 55, .. &
() 53 | (b) 51
wis 218 Vi

3. If K?A‘Mﬁ ywnéén as 23‘\?3 hen HAL =

e

will be wrrtl;en as
(a) 48113
() 41813‘) G

(b) 43811
(d) 38141

4. If the sum of 3/8 and 2/7 of a number is 270 r :
4 ﬂﬁ:@«'ﬂ”{m%yg 1 207 1 A 770@@

" then the number is

(a)y 520 ® 540
5 In WA <aE P
2 ‘.9 sl .12 | .‘-. X

the value of X .is,_ : i

6. The surface area of a cube is 216 sq.m. What is
its volume ?
(a) 512 cu. m.
(c) 216 cu. m.

(b) 480 cu. m.
(d) 100 cu. m.

7. If Rs. 2000 invested at 10% interest and the
interest is compounded half-yearly, what will be
the total amount at the end of one year ?

(a) Rs. 2200 (b) Rs. 2220
(¢) Rs.2210 (d) Rs. 2205
8. The irrational number is
(@) 9 ® L
9
e © Jo0o @) /09
e
\_A-f,“
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(@) 35 (b) 38
(A3 @ (d) 45
2. 3 TR A EdT & Ied § Fi o ge
T 7
85. 77, 70, 64, 59. 55, ..C}
@ 53 (b) 51

)50' ' d5’7®
(c (\} :

3. qﬁ’KAMAL%WQT%EWﬁ 21413 foran
SE S MAHAL &1 &5 9 fom s ?
(a) 48113 (b) 43811
(cy 41813 d) 38141 @

qE ' _.; @Tﬁ-
L

(B) 540
(&; 560
s~ s R Y
L DG El MO 0S
e I 12 26 X
St 32 (b) 34
(c) 36 (), 38

6. Y 97 & 9w T Suwe 216 A9 A &, 4l

SEHT AT FT 8 7
() 512 = =X (b) 480 =T HIX
(c) 216 o9 HIX (d) 100 =7 =T

7. 10% & R & 2000 FERE fHy 7w | 959is
TS Y T 9fd o8 a9 W T | v ad &
o H Fel o fopamn 2 ?

(a) & 2200 ®) & 2220
(¢) & 2210 (@ & 2205 !\ ‘.
8. YUiyT & &
(@) 9 _ ®) é
(@ 09 (d J-09
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10.

11.

12.

13

14.

(2) WXY

82|04 |44
16 |36 | 16
41614
10| Xx|8|

The value of X in the above figure is
(a) 19 (b) 18
(c) 15 (d 13

Number of prime factors

12 15
1Y~ L o25 [3) .
—_ XS x| = 3

(6) 2

(a) 33
(c) 52

(b) 37
(d) None of the above

In the series IKJ, NPO, SUT, the blank

place represents

(b) VXW

(c) XYZ (d) XZY

‘Light Year’ is
(a) The year in which February has 29 days
(b) The distance travelled by light in one year

(c) The time which sunrays take to reach the
earth ’ '

(d) The time in which a spacecraft reaches
moon from the earth

On a set of four numbers, which of the
following operations is applied to get the
numbers as 6, 14, 54, 1497

(a) Add 1 to its square

(b) Subtract 1 from its cube

(c) Add 2 and multiply by 2

(d) Square the number and add 5

Two numbers are in the ratio 5:6 and their
LCM is 660. The smaller number is

(a) 22 (b) 165
(c) 132 (d) 110

(Y]

44
16 (36 |16 ‘
416/|4
10 X8
FoR &1 T ST K X 1 AW
(a) 19 (B) 18
() 15 (d) 13

12 15 .
10. (%] XSZS_X(%) ¥ SIS TGS S ST

2

(a) 33 (b) 37

(c) 52 (d) Iowh & & W2 AR
@’vﬁ IKJ, NPO, SUT, ....... & feh e ffde

e TS

(a) WXY (b) VXW

(© XYZ (d) XZY

12. ‘gEwr a2
(a) e %, P wEd 29 AT i gt ©
(Wﬁ%q\ﬁ,a‘rwar@a&‘ﬁmm%@
(©) e w, S qf dr fRer gedt o g H
et € :
(d) = e ford safcem 9ot § JH1 6
g o

713.31?%%@1@?6%@@&%%!3‘%@?&

ffeaT 21 getd 6, 14, 54, 149 9TH &Rt ?
(a) T0F A H | e

(DB o | FEER

(c) 2 e & == 2 ¥ IO &

(d) T6% T & 5 SMTH

14, 3 FEATE 5 : 6 F AT H € qFT IR A 7. 660

2| I HEAT §
(a) 22 (b) 1065
() 132 (d) HO
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15.

Who zimong the following female revolutionary
fired at the English Governor (Chancellor)

_ while receiving her Degree at the convocation ?

16.

17.

18.

19.

20.

C -

(a) Shanti Ghosh

(b) Suniti Chaudhary
(c) Bina Das

(d) Kalpana Dutt (Joshi)

The real name of which one of the following
leaders of 1857 was ‘Ram Chandra Pandurang’ ?

(b) Tatiya Tope
(d) Mangal Pandey

(a) Kunwar Singh
(c) Nana:Saheb

Who among the following has pleaded on the
side of the Indian National Army officers in
their Redfort trial ?

(a) C. R. Das
(c) M. A. Jinnah

(b) Motilal Nehru
(d) Sir T. B. Sapru

The President of the Surat session of Indian
National Congress (1907) was

(a) Dadabhai Naoroji

(b) Bal Gangadhar Tilak

(¢) Gopal Krishna Gokhale .
(d) R. B. Ghose

Which one of the following is correctly matched ?

(a) Lajpat Rai Poverty and

UnBritish Rule

in India
(b) Dadabhai Naoroji Unhappy India
(c) Rafiq Zakaria The Man who
Divided India
(d) Subhash Chandra Guilty Men of
Bose India’s Partition
Which one of the following statements is not

correct about Mohammad Ali Jianah ?
(a) He had supported the “Two Nation Theory’.

(b) He had presided over the Annual session of
the Muslim League at Lahore in 1940

(¢) He did not participate in the Non-Coopera-
tion Movement

(d) He always maintained a diary

SBS-61

15.

16.

17.

18.

19.

20.

ffafaa # & fora afeer sfery 3 e
TR # aodT gurfy (fif) wewr o< a9y
IS TEK (Fenfiald) o A Tars off 7

(a) STTfea =

(b) AT =tery

(c)'@ﬁ‘rﬁ?ﬂ'ﬁ \

(d) AT 2 (ei)

1857 ¥ Freafofem sl # & Fraa

(a) F foim (b) dier &Y

(c) AT &R (d) et qmo )
AToTe fore BN & srftmTiar & S ot oot &
w@wﬁﬁmqaﬁﬁmﬁ%ﬁﬁﬁ%ﬁ%
TR T =T 7

(a) &, AR, T (b) Hidtare 5!%"6

(c) wH. u. o= (d) 2L, 1. Hg,i\)

1907 & WRe T ¥ qw ¥ s
AfEEsH & Heae &

(a) STRTSITE AL
(b) =Tt TWeR faeres
(c) THTE FST el 1
(d%am.a"r.sﬁsr Q
foretforfera & & Y7 ww FE @R 2 7
(a) TSI A a2l Ure Iy &
(b) FMETATE RIS it 3fesar
ok THIE WRIRAT ¢ T A Ak o
(d) oY === O ;. Fedr 39 arw sfears

T (1

\)

ﬁm%%aﬁﬁaﬁ?@amlﬁ%\ﬁaaﬂ?ﬁw
& fawg & et w2 7

(@) & ‘a1 g forgra’ & wede

(bi/ée—sﬁ%wm%gr%m#m%ar@r%mﬁa
ferdsm &t aegerar €1 9t

(c) anmma@ﬁmm

(d) & TeF =0 W o 5@



21.

22.

23.

24.

26.

27

(a) Balban

Which one of the following dates was fixed up

by the Muslim League as ‘Direct Action Day’ ?
(a) 15 August 1946 (b) 16 August 1946
(c) 17 August 1946 (d) 18 August 19406

In which of the following sessions of the Indian

National Congress Subhash Chandra Bose had |

defeated Pattabhi Sitaramayya in the election of
the Congress President ?

(a) Haripura session, 1938
(b) Tripuri session, 1939
(c) Lahore session, 1929
(d) Madras session, 1927

The slogan ‘Long Live Revolution’ is asso-
ciated with

(a) Chandra Shekhar Azad
(b) Ram Prasad Bismil

(c) Bhagat Singh

(d) Lala Hardayal

1929 Lahore session of the Indian National
Congress was presided over by

(a) Motilal Nehru (b) C. R. Das
(c) Jawahar Lal Nehru (d) S. C. Bose

. Who among the following Sultans of Delhi

established an ‘Employment Exchange’ to help
the unemployed ?

(a) Balban

(b) Alauddin Khalji

(c) Mohammad Bin Tughlagq
(d) Firoz Shah Tughlag

Which one of the following medieval kings of
India was highly educated ?

(b) Alauddin Khalji

(¢) Tbrahim Lodi (d) Sher Shah

The Mughal Rulers of medieval India were in
fact

(a) Persians (Iranians)
(c)- Chagtai Turks

(b) Afghans
'(d) None of the above

St

21.

22.

23.

24,

25.

| (¢) TER e, 1929

(¢) @Tew @
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28.

29.

30.

31.

. (¢) Bodhi

33,

34.

Consider the following staterments about the
Mughal mansabdari system :

{ ‘Zat and ‘Savar’ ranks were granted.

S

The mansabdars were hereditary officers.
There were three categories of mansabdars.

3
4. They were paid salaries by the Diwan’s

office.

Select the correct answer from the code given
below : :

Code :
(a) 1,2, 3 and 4 (b) 1, 2 and 3
(¢) 1 and 3 (d) None of the above

Which Mughal Er'_nperor abolished the Persian
Court Custom of ‘Sijda’ which was begun by
Balban ?

(a) Akbar
(¢) Shahjahan

(b) Jahangir
(d) Aurangzeb

Heliodorus of ‘Besanagar inscription’ was a
resident of

(a) Pushkatavati
(c) Sakala

(b) Taxila
(d) Mathura

Buddha had visited Kausambi during the reign

of
(a) Satanika - (b) Udayana

(d) Nicakshu

. Which religion was patronized by the Rashtra-

kutas ?
(a) -Buddhism

(c) Shaivism

(b) Jainism
(d) Shaktism

Who is known as ‘Shaka-conqueror” ?
(a) Chandragupta 1 (b) Samudragupta

(¢) Chandragupta II (d) Kumargupta

The number of forms of bhakti in the Bhagwat
cult is '

(b) 8
(d) 10

(a) 7
{c) 9
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35.

36.

37.

38.

39.

The idea of Fundamental Rights in the Indian
Constitution has been borrowed from the

(a) British Constitution
(b) Irish Constitution
(c) Canadian Constitution

(d) American Constitution

MANREGA scheme has been launched as a
part of implementing which one of the following
Articles of the Indian Constitution ?

(a) Article 43 (b) Article 45
(c) Article 47 (d) Article 50

Which one of the following is not a concept
of Republican ?

(a) A state In which the people are shpreme
(b) The supreme pOWer rests in elected head

(c) The supreme POWer rests in
individual like a king

single

(d) A government by representatives chosen by

the people

Which one of the following subject is not inclu-
ded in the provisions of the Money Bills ?

(a) Provision regarding taxes
(b) Provision regarding borrowings

(c) Provision regarding custody of the consoli-
dated and contingency funds

(d) Provision for imposition of fines or
penalties

The officers of the Parliament include :
1. Speaker, Lok Sabha

2. Deputy Speaker, Lok Sabha

3. Secretary-General, Lok Sabha
4. Chairman of the Rajya Sabha

Select the correct answer from the code given
below :

Code :
(a) 1 and 2
(e, 158 and 4

(b) 1,2 and 3
(d) All the four

35.

36.

3.

38.

Wﬁw"ﬁ@ﬁﬁﬁmﬁaﬂﬁm
T -
(a) %%Hﬁ%ﬂ?ﬁ
(b) e ¥ e 8
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(@ SRR 3 HIEHT 8

®
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wh AE © 7
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40. Which of the following are covered by the 73rd

41.

43.

(seventy-third) Amendment of the Indian

Constitution 7

1. Zila Panchayat

2. Kshetra Panchayat
3. Gram Panchayat
4. Nagar Panchayat

Select the correct answer from the code given
below : -

Code :
(a) 1 and 2 (b) 1,2 and 3~
(d) All the four

() 1,3 and 4

The Vice-President of India :
1. Is the second highest dignitary of India.

2 Has no formal function attached to his
office.

3. Discharges the functions of the President
during his absence. '

4. Acts as the President if the President
resigns, or is removed or dies.

Select the correct answer from the code given
below :

Code :
(a) 1 and 2 (b) 1,2 and 3
(cy 1,3 and 4 (d) All the four

. Which one of the following is rot a Directive

Principle of State Policy ?
(a) Prohibition

(b) Cow-Protection

(c) Environment-Protection

(d) Free Education to children up to the age of
fourteen (14)

Which one of the following gave the idea of
Constituent Assembly for India ?

(2) Simon Commission
(b) Rajaji Formula

(¢c) Cabinet Mission Plan
(d) Wavell Plan
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44.

45.

46.

47.

48.

49.

Which one of the following
federal polity in India ?

Acts provided for a

(a) Government of India Act 1909

(b) Government of India Aet 1919

(c) Government of India Act 1935

(d) India Independence Act 1947

In 2007-08, which one of the following countries
accounted for the largest imports to India ?

(a) United States of America

(b) Saudi Arabia

(¢) China

(d) Switzerland

Bonded labour was abolished in India, by an act
of Parliament enacted in the year '

(a) 1974 (b) 1976

(c) 1979 (d) 1980

Which among the following districts of Uttar
Pradesh has the largest area ?
(a) Lakhimpur-Kheri (b) Sonebhadra

(c) Sitapur (d) Hardoi

In the year 2009-10, which one of the following
regions accounted for largest imports of India ?
(a) Asia and Asean |

(b) Europe

(©) ‘North America and Canada

(d) South America and Africa

‘Swadhar’ is the scheme for

(a) Unique [dentification

(b) Self—employmeni for males

(c) Women in Difficult circumstances

(d) Common home for senior citizens

9

44.

45.

46.

47.

48.
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(g T
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(d)aﬁﬁamﬁaﬁ%@mﬂ%ﬁmm
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50,

51.

S2.

53,

54,

To promote tourism in India the ministry of
Tourism has adopted to popularize India as

(1) Land of God (b) Pear! of the East
(¢) Beautiful India (d) Incredible India

The expert group formed for ‘A viable and
sustainable Pricing of Petroleum products’ was
headed by

(a) Sita Ram Yechury
(b) Bharat Jhunjhunwala
(c) Yudh Veer Reddy
(d) Kireet Parikh

Among the Indian states Uttar Pradesh is not the

largest producer of
(a) Flowers (b) Wheat

(c) Potato (d) Sugarcane

According to the census 2001, Female : Male
Ratio in Uttar Pradesh was

(a) 878 females per thousand males
(b) 898.females per thousand males
(c) 918 females per thousand males
(d) 928 females per thousand males
Betwc;en October 2009 and

February 2010, the inflation
rate in India was negative.

Assertion (A) :

Reason (R) : Petrol price had come down

from 140 $ a barrel to 30 $ a
barrel in the global market.

Select the correct answer from the code given
below :

Code :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

{(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

C - SBS-61
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57.

58.

. The Indian Institute of Pulses Research is

located at
(b) Jabalpur
(d) New Delhi

(a) Lucknow

(c) Kanpur

Seed-testing is basically done for
(b) Germination

(d) All the above

(a) Purity
(c) Moisture content
Match List I (Naturally Qccurring Substances)

with List 11 (Elements) and select the correct
answer from the code given below the Lists:

List I List II
A. Diamond 1. Calcium
B. Marble 2. Silicon
C. Sand 3. Aluminium
D. Ruby 4. Carbon
Code :

AleB € D
@) 1 2 3 4
(b) 4 1 2 3
(c)y 3 1 2 4
(d)y 4 2 1 3
Match List I with List I and select the correct
answer from the code given b;elow the Lists:

List I List II
(Hormones) (Secreting Gland)
_A. Progesterone 1. Thyroid

B. Testosterone 2. Pancreas
C. Thyroxine 3. Ovaries (females)
D. Insulin 4. Testicles (Males)
Code :

A B C D
(ay 3 4 1 | 2
b 4 3 1 2
() 3 4 2 |
@-1 12 3§ 4
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¢
@ 3 -4 2.1
@ 1 2 3 4
C - SBS-61

11



59.

60.

61.

62,

63.

64.

Bio-gas mainly consists of

(a) Carbon Dioxide and Hydrogen

(b) Hydrogen and Methane

(c) Cérbon Dioxide and Methane

(d) Hydrogen and Oxygen

Which one of the following chemicals is used
for fruit-ripening ?
(2) Ethaphon (b) Melathian

(¢) Isoproton (d) Atrazine
November 17th (seventeenth) is observed world-
wide as “World COPD Day”. The full form of
COPD is '

(a) Chronic Obligatory Pulmonary Disease

(b) Communicable Obstructive

Disease

Pulmonary

(c) Chronic Obstructive Pharyngeal Disease

(d) Chronic Obstructive Pulmonary Disease

‘Stuxnet” worm detected in the computers of
Iran is

(a) A Hardware to speed up internet working

(b) A malicious programme (O

Nuclear centrifuges

sabotage

(c) A software to off-set hacking

(d) A device to undertake BPO

National Green Tribunal Act-2010 relates to
(a) Green Fuel usage

(b) Promotion of Alternate sources of Energy
(c) Conservation of Environment

(d) Creation of Green-Courts

Photosynthesis using the invisible part of the

sunlight is done by some
(a) Trees (b) Algae

(¢) Fungi (d) Bacteria

C - SBS-61
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65.

66.

67.

Consider the following statements :

In India both Rich and Poor
are malnourished.

Assertion (A) :

Reason (R) :
poor eat poor diet.

Select the correct answer from the code given

below :

Code :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

Match List I with List 11 and select the correct
answer from the code given below the Lists :

List I List I

(Disease) (Cause)
A. Nightblindness 1. Vitamin D
B. Rickets 2. Vitamin C
C. Scurvy . 3. Vitamin B
D. Beri-beri 4, Vitamin A
Code :

A B € D
(a) 1 2 3 4 -
(b 3 i P | 2
(c) 4 1 2 3
(d) 2 3 4 1

Match List 1 with List II and select the correct
answer from the code given below the Lists :

List I List 11
(Organizations) (Location)

A.ISRO 1. Thiruvananthapuram
B. IUCA 2. Pune
C. IUAC 3. Bengaluru
D. VSSC 4. New Delhi
Code :

A «B- Gg D
{(a) 3 2 4 1
(b | 2 3 4
© 2 4 183
@iT g L. 2 A

Rich eat wrong diet and the }
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68.

© (c) Metre

. 69.

70.
" (a) Carbon dioxide

1.

72.

73.

74.

Which unit of measurement is multiplied by

(-39 to convert it to ‘inches’ ?
(1) Millimetre (b) Centimetre

{d) Decimetre

Optical fibre works on the principle of
(a) Total internal reflection

(b) Refraction

(c) S.cattering-

(d) Interference

‘Acid rain’ is caused due to air-pollution by

(b Carbon monoxide
{c) Methane

(d) Nitrous oxide and sulphur dioxide

As the train starts moving, the head of the
passenger sitting inside leans backwards
because of ' ;

(a) Inertia of Rest
(b) Inertia of Motion
(¢c) Moment of Inertia

(d) Conservation of Mass

Which one of the following places has a
Nuclear power project in Uttar Pradesh ?

(a) Obra (b) Panki
(¢) Narora (dy Harduaganj

Which type of electromagnetic radiation is used
in the remote control of a television receiver ?

(a) Visible (b) Ultra-violet
(c) Infra-red (d) None of the above

Which one of the following is not correctly
maiched ?

(a) Deva —  Barabanki
(b) Alha - Mahoba -
(¢ Karma - Mathura

(d) Kajri —  Mirzapur

C — SBS-61
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75,

76.

77.

78.

Based on 2001 census which one of the
following statcments about Uttar Pradesh is not
correct ?

(a) Rural population is 79-21 per cent of the

total population of the state
(b)
(c)

Male literacy rate is 688 per cent

Tt ranks twelfth (12th) in India in terms of

density of population
is

(d)

The district with lowest population
Mahoba ‘ :

Match List 1 with List II and select the correct
answer from the code given below the Lists :
List I List II
(Industry) (Centre)
A. Wooden Toys 1. Meerut
B. Sports Goods 2. Bareilly
C. Brass Statues 3. Varanasi
D. Matchbox Industry 4. Mathura
Code :
A.=B €3pD
(a) 1 4 3 2
@ 3 2 N
ey -2 1 4 3
(d 3 1 4 2

Dr. Ambedkar Institute of Technology for
Handicapped is located i

(a) Agra (b) Allahabad

(c) Kanpur (d) .Lucknow

The oldest University in Uttar Pradesh is
(a) Banaras Hindu University. Varanasi
(b) University of Allahabad, Allahabad

(c) Chaudhary Charan  Singh
Meerut

University,

(d) Lucknow University, Lucknow
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79.

0.

81.

82.

83.

The dynahﬁc population resource regions of
India include :

1. Ganga-Yamuna Doab

2. anstal Orissa

3. Rajasthan

4. Tamil Nadu

Select the correct answer from the code given
below :

Code :
(a) 1 and 2 (b) 1 and 3
(c} 2 and 3 (d) 1 and 4

Which one of the following is the most stable

&co-systemn ?

(a) Desert
{c) Ocean

(b) Mountain
(d) Forest
The mega-cities of India have

varying rates of population-
growth.

Assertion (A) :

Reason  (R) : As per 2001 census, India has

four mega cities.

Select the correct answer from the code given
below : ' '

Code :

(a) Both (A) and (R) are true and (R) is the

correct explanation of (A)

(b) Both (A) and (R) are true but (R) is nof the

correct explanation of (A)
(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

Under the National Population Policy 2000, the
goal to attain ‘population stabilization” has been
revised from 2045 (o

(a) 2055
(c) 2065

2060
2070

(b)
(d)

The Antarctic Study Centre of India is located

at
(a) Dakshin Gangotri - (b} Gangotri

(cy Goa (d) Maitri

C - SBS-61
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84.

86.

87,

88.

89.

The ‘Green House’ effect is mostly caused by
(a) Carbon-dioxide in the atmosphere

(b) Infra-red Radiation

(c) Moisture in the atmosphere

(d) Ozone layer

. The orderly sequence of change in the vegeta-

tion of an area over time is described as

(a) Biomes (b) Succession

(¢) Trophic level (d) Climax

According to 2001 census, what is the rank
of Uttar Pradesh among the States/Union
territories by literacy rate ?

(a) 29 (b) 30
(c) 31 (d) 32

In South Asia, the country with largest
percentage of aged population is

(a) Bhutan (b) India

(c) Nepal (d) Sri Lanka

About eighty per cent of the world’s population
is not protected by

(a) Economic security (b) Food security

(c) Child security (d) Social security

Which one of the following is the correct
descending order of the percentage of urbaniza-
tion of the following South Asian countries ?

Select the correct answer from the code given
below :

1. Bangladesh

2. India

3. Pakistan
4. Sri Lanka
Code :

(b) 3,2, 1 and 4
(d) 4, 2, 3 and |

(a) 2,3, 1 and 4
@© 2, 1,4 and 3

17

85.

- 86.

87.

88.

89.

-

(a9 ATTHES H AT TATATEE & O
(b) THRE (wrawh) fafewo @

(©) a@n@aﬁaﬁ%m
() AT 9 & HRW

U G ¥ SR § AR SHeg TRadd @l
gl ST @

(@ S| (b) TEFATY

(c) TI9 TG (d) =<H T=FET
STERTUTAT 2001 3 SHT STLRET 3 H IO Fa &
g AT/ Feg-anfad gest # AT g Y

(a) 29 (b) 30 .

(Q 31 (@ 32 @
<fmr ofirr ¥ 97 S @ At TR
T 2T T

(ay AT (by: AT

(c) Hure CEIRED

freg &y ewra sredt ufded SEeAr wXiE

(a) aTfdier BReT g (b) W LT ERI
(c) Ty geear g

o ot & Feafafes 2o & ofowa
TWRTHT T freAfortad & & S FaEl FH e ¢
A fou T w2 & AL SR @ W i
1. AR
2. 9RA
3. uifeeamE
4. AT @
&l
(@) 2,3,1 T3 4 (b) 3,2, 1 U3 4
(c) 21,4 TT 3 (@ 4,2,3 @1
C - SBS-61



90.

Assertion (A) : India’s level of urbanization
is much lower than that of
China. T

Reason (R) : Indian cities =~ are poorly
planned.

Select the correct answer from the code given
below :

. Code :

" 91.

92.

93.

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is rof the

correct explanation of (A)
(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

In India. the lowest sex ratio is found in the
Union territory of

(a) Chandigarh

(b) Dadara and Nagar-Haveli
(c) Daman and Dieu |
(d) None of the above

The inter-state movement of
coal forms a major component
of inter-state traffic handled
by railways. -
Bengal-Tharkhand  coal-fields
are major source of coal
supply to the north-western
states.

Assertion (A) :

{R) 2

Reason

Select the correct answer from the code given
below :

Code :

(a) Both (A) and (R) are correct and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are correct but (R) is not
the correct explanation of (A)

(c)‘ (A) is true but (R) is false
(d) (A) is false but (R) is true

Epiphytes are generally found in
(a) Coniferous forest  (b) Monsoon forest

(c) Savana woodiand (d) Equitorial forest

C - SBS-61
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94.

95.

- 96.

Match List 1 with List 1 and select the correct
answer from the code given below the Lists:

List [ List IT
A. Jute 1. Assam
B. Tea 2. Kerala
C. Rubber 3. West Bengdl

D. Sugarcane 4. Uttar Pradesh

Code :

A B C D
(a) 3 1 2 4
) 4 3 1 =52
(c) 2 4 3 1
(dy . 1 2 .43 4

Which of the following statements are correct 7

1. Tamil Nadu has recorded highest increase
in urbanization rates during 1961-2001.

The average size of an urban centre in
India comes to around forty-five thousand
(45,000). '

The largest number of urban centres fall in
the category of class IV.

[

(V]

Class V and VI towns share over five per
cent .(5%) of the - country’s total urban
population.

Select the correct answer from the code given
below :

Code :
(a) 1 and 2 (b) 2,3 and 4
(c) | and 3 (d) 1, 2 and 3

The correct sequence of energy sources in order
of their share in power sector in India is

(a) Thermal > Hydro > Nuclear > Wind
(b) Thermal > Nuclear > Hydro > Wind
(¢) Hydro > Nuclear > Thermal > Wind
(d) Nucléar > Hydro > Wind > Thermal
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97.

98.

99.

100.

101.

o i 2 and 4

Which of the following statements are correct ?

1. The Northern cities of India have in

general, an unbalanced sex-ratio.

2. The eastern cities are scattered as against
concentration of western cities.

LS

There is larger participation of women in
the labour force in the south due to small
proportion of christians in the population as
also the high literacy rate.

Western cities have lower proportion of
immigrants from rural areas.

Select the correct answer from the code given
below :
Code :
(a) 1,2 and 3 (b) 2, 3 and 4

(d 1,3 and 4

The largest producer of wine in the world is
(a) France

(b) Italy

(c) Spain

(d) United States of America

‘Monoculture’ is a distinct characteristic of
(a) Commercial grain-farming

(b) Shifting cultivation

(c) Subsistence farming

(d) Organic farming

‘Foehn” is a local wind of
(a) China (b) Korea

{¢) Japan (d) Switzerland

‘The highest percentage of the world’s forest

cover is associated with

(a) Temperate Coniferous Forests
(b) Temperate Deciduous Forests
(¢) Tropical Monsoon Forests

(d) Tropical Rain Forests
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102.

-103.

104.

105.

Among the iron-producing countries of Europe,
France stands
(a) First (b) Second
(c) Third (d) Fourth
Match List I with List II and select the correct
answer from the code given below the Lists :
List I List IT
(Centres) (Industries)
A. Nagoya 1. Iron and Steel
B. Salem 2. Aircraft
C. Los Angeles 3. Cotton Textiles
D. Abadan 4. Oil Refinery
Code : '
A B C D
(a) 2 3 4 1
(b) Aw 2 - 3.l
© 1 4 2 3
(d) 3 I 2 4

Which of the folloWing countries suffer most
from ‘Acid rains’ ? Select the correct answer
from the code given below :

1. Canada

2. Norway

3. Sweden

4. United Kingdom
Code :

(a) 1and 2

(¢) 1,2 and 3

(b) 1 and 3
(d) 2, 3 and 4

Match List I with List IT and select the correct
answer from the code given below the Lists :
List 1 List 1T

(Crop) (Region/Country)

A. Rubber |. Mauritius
B. Coffee 2. Italy
C. Olive . 3. Columbia
D. Sugarcane 4. Malaysia
Code :

A B C D
(@ 1 2 3 4
4 3 M 1
(c). 4 3 1 2
d) =3 4 2 |
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106.

107.

- (a) Madhya Pradesh

108.

109.

110.

111.

112.

Which state of India has the largest scheduled
castes population ?

(a) Bihar
(¢) Uttar Pradesh

(b) Tamil Nadu
(d) West Bengal

Rampura, which became the first village n
India to have its solar power plant, is situated in

(b) Himachal Pradesh

(¢) Andhra Pradesh (d) Uttar Pradesh

The two leading producers of coal in India are
(a) Jharkhand and Orissa

(b) Jharkhand and Chhattisgarh

(¢) Chhattisgarh and Madhya Pradesh

(d) Madhya Pradesh and Andhra Pradesh

Which one of the following is not correctly
matched ?

(a) Nathu La

Arunachal Pradesh

(b) Lipulekh —  Uttarakhand
(c) Rohtang —  Himachal Pradesh
{d) Palghat —  Kerala

The percentage of forest cover with reference to
the total geographical area is highest in
(a) Arunachal Pradesh (b) Nagaland

(c) Tripura (d) Mizoram

Assertion (A) : The rivers of western ghats do

not form delta.

Reason (R) : They flow through  short
courses with high speed over
hard-rocks.

Select the correct answer from the code given

below :

Code :

(a) Both (A) and (R) are correct and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are correct but (R) is not
the correct explanation of (A)

(¢) (A) is true but (R) is false

(d) (A) is false but (R) is true

Which one of the following is the youngest
mountain chain ? ;

(a) Vindhyas
(c) Shivaliks

(b) Aravalli
(d) Annaimalai
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113.

114.

115.

116.

117.

The average size of operational holdings in
India is largest in

(a) Punjab
(c) Madhya Pradesh

(b) Gujarat
(d) Rajasthan

Match List I with List II and select the correct

answer from the code given below the Lists :
List I List I

(Coal Producing (Coal-fields)

Areas)

A. Damodar valley 1. Talcher

B. Son valley 2. Barakar

C. Godavari valley 3. Umaria

D. Mahanadi valley 4. Singareni

Code :
A, B € 2D
@ 2o 3 44 1
B 3 2 1 4
() 1 3 4 2
(d)y 4 | 2 3
Consider the following statements and select the

correct answer from the code given below :
1. Richest deposits of iron ore are found in
Karnataka.

India is the second largest producer of iron
ore in the world.

E\J

3. Orissa is the largest producer of iron ore in
India.

Code :
(a) 1 only (b) 2 and 3
(c) 1 and 3 (d) All are correct

Which state of India has the maximum length of
state Highways ? :
(a) Uttar Pradesh

(c) Madhya Pradesh

(b) Bihar
(d) Maharashtra

Who has won Jnanpith Award for the year
2008 ?

(a) Akhlag Khan Shahryar
(b) Kunwar Narain

(c) O.N.V. Kurup

(d) Rahman Rahi
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118.

119.

What is the rank of Smt. Indira Gandhi in the
list of Time magazine’s “25 Most Powerful

Women of the Past Century” released in
November 2010

(a) Sth (Eighth)
(c) 10th (Tenth)

(b) 9th (Ninth)
(d) 1l1th (Eleventh)

During his stay in Delhi in November 2010,

_ President Barack Obama visited

120.

(b) Jama Masjid
(d) Red Fort

(a) Humayun’s tomb
(c) Qutb Minar

Match List I (Winners of Nobel Prize 2010)
with List I (Field) and select the correct answer
from the code given below the Lists :

List I List II
A. Robert Edwards 1. Peace
B. Richard F. Heck 2. Economics
C. Liu Xiaobo 3. Chemistry
D. Peter A. Diamond 4. Medicine
" Code :

A B C D
(a) 2 3 4 1
by 3 4 1 2
(c)y 4 1 2 3
@ 4 3 1 2

121.

122.

123.

124.

The winner of Booker Prize 2010 was
(b) J. M. Coetzee
(d) Tom MaCarthy

(a) Howard Jacobson
(c) Peter Carey

In November 2010 Nikki Haley, an Indian
American, was elected governor of

(a) Ilinois

(b) North Carolina

(c) South Carolina

(d) Virginia

The winner of Dada Saheb Phalke Award for
2009 was

(a) D. Ramanaidu
(c) Tapan Sinha

(b) Manna Dey
(d) V. K. Murthy

The ‘Rajiv Gandhi Khel Ratna’ Award 2010
was given to

(a) Mary Kom
(c¢) Sushil Kumar

(b) Saina Nehwal
(d) Vijender Singh
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125.

126.

127.

128.

129.

Athletes from how many countries/territories
competed in the sixteenth (16th) Asian Games ?

(a) 43 (b) 44
{c) 45 (d) 46
In the Nineteenth (XIX) Commonwealth

Games, the Indian athlete who won the highest
number of gold medals, was

(b) Gurpreet Singh
(d) Vijay Kumar

{a) Gagan Narang
(¢) Omkar Singh

The 1.C.C. “One Day Player of the Year” for
2010 is

(a) A. B. deVilliers
(c) Sachin Tendulkar

(b) Ryan Harris
(d) Shane Watson

Match List 1 with List IT and select the correct
answer from the code given below the Lists :

List I List I
(Field) (Artist)
A. Khayal 1. Suraj Khan
B. Pakhawaj 2. Sadiq Ali Khan
C. Veena Vadan 3. Pt. Ayodhya Prasad
D. Tabla 4. Veeru Mishra
Code :
A B C D
(@ 1 2 B 4
by 2 1 4 3
{c) 1 3 =2 4
@ 3 4 1 .2

Match List I with List IT and select the correct
answer from the code given below the Lists :

List 1 List IT

(Fields) (Persons)
A. Hindi literature 1. Raskhan
B. Urdu 2. Gyan Chandra Jain
C. Music and Dance 3. Savita Devi
D. Painting 4. Satish Chandra
Code : X

A B C D

(@) 1 2 B 4
h)-Z .1 ~4& 3
{¢) 1 3 2 4
(d 3 -4 1 2
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130.

131.

132.

133.

134.

135.

 (a) Austral_ia

Which three of the following Indian performing
Art forms have been included in the Intangible
Cultural Heritage of Humanity by the
UNESCO 7.

Mridiyettu of Kerala.
Chhau of East India.

Kalbelia of Rajasthan.

4. Kuchipudi of Andhra Pradesh.

Select the correct answer from the code giveh
below : '

Code :
(a) 1,2 and 4
() 1,3 and 4

1
2.
3

(b) 2,3 and 4
(@ 1,2and 3 -

The International Food Policy Research
Institute, U.S.A. has released ‘Global Hunger
Index 2010° in October 2010, according to
which, India’s rank is ‘

(a) 65th (b) 66th
(c) 67th (d) 68th
The seventeenth (17th) Summit of ASEAN

was held in the last week of October 2010 in
(a) Bangkok (b) Hanoi
(c) Jakarta (d) Singapore

who won the largest
in the Commonwealth

Among the following.
number of gold medals
Games 20107

(a) Kiristin Gerard

(b) Marriluss Prevost
(c) Alicia Zen Couts '

(d) Prone Pears

The -world’s biggest solar power station has

been opened in
(b) England

(c) France (d) Germany

According to the Annual Forbes India Rich List,

who is the richest lady in India (November

2010) 7

(a) Ms. Mirinalini Sarabhai
(b) Ms. Namrata Bhartia
(c) Mrs. Savitri Jindal

(d) Ms. Rajshree Pathy
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136.

137.

138.

139,

140.

Village Tembhli was in the news in September
2010 for

(a) Mass suicides of farmgrs
(b) Project ‘Jugnu’

(c) Project ‘Aadhar’ '

(d) None of the above

Wthh one of the following attributes is nof
consistent with the rest of them ?

(a) Bravery (b) Loyalty

(c) Honesty (d) Cunningness

Which number will come at the end of the
series ?

13, 23, 34, 46, 59, 73, ... ?

(a) 79 (b) 92

(c) 98 (d) 88

O @)
As figure is to x
G O
figure i should be to the figure

‘B¢
N |
1 "X

A student leaves the gate of his scheol and
walks straight eastward for a kiiometre then he
turns left at 90° angle and walks again for
another one km after that he again turns left and
after again walking for a km and stops there and
stands for a while. In which precise direction he
stands from his starting point ?

(a) West-South (b) North
(c) East-North (d). South-North
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